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Section - |

1. Select the correct sentence.

(A) The doctors cut out his leg because it was severely
injured.

(B) The air conditioner becomes cut off when the
temperature gets to 22°C.

(C) The phone company cut in our phone because we
didn't pay the bill.

(D) I cut this advertisement out of the newspaper.

2. Select the correct sentence.

(A) He's lucky to be alive; his shop was done over by a
street gang.

(B) It's time to do over with all of these old tax records.
(C) My teacher wants me to do my essay up because she
doesn't like my topic.

(D) Do the hanging of your coat before you go out.

3. Select the synonym for the underlined word.

| watched my friend abasing himself before a policeman.
(A) Belittling

(B) Abusing

(C) Retracting

(D) Detracting

4. Select the correct synonym for the underlined word.
The angry man was forceful in his remonstration.

(A) Refraction

(B) Disagreement

(C) Demonstration

(D) Perception

5. Select the correct synonym for the underlined word.
There has been a precipitous slide in the popularity of
cricket in West Indies.

(A) Gradual

(B) Normal

(C) Simple

(D) Dramatic

Direction for questions 6 to 10:

Read the passage and answer the questions that follow.

Firefighters are often asked to speak to school and
community groups about the importance of fire safety,
particularly fire prevention and detection. Because smoke
detectors reduce the risk of dying in a fire by half,
firefighters often provide audiences with information on
how to install these protective devices in their homes.
Specifically, they tell them these things: A smoke detector
should be placed on each floor of a home. While sleeping,
people are in particular danger of an emergent fire, and
there must be a detector outside each sleeping area. A
good site for a detector would be a hallway that runs

between living spaces and bedrooms.

Because of the dead-air space that might be missed by
turbulent hot air bouncing around above a fire, smoke
detectors should be installed either on the ceiling at least
four inches from the nearest wall, or high on a wall at least
four, but no further than twelve inches from the ceiling.
Detectors should not be mounted near windows, exterior
doors, or other places where drafts might direct the smoke
away from the unit. Nor should they be placed in kitchens
and garages, where cooking and gas fumes are likely to

cause false alarms.
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6. The passage implies that dead-air space is most likely
to be found

(A) on a ceiling, between four and twelve inches from a
wall.

(B) near an open window.

(C) in kitchens and garages.

(D) close to where a wall meets a ceiling.

7. A smoke detector should NOT be installed near a
window because

(A) fumes from outside may trigger a false alarm.
(B) a draft may create dead-air space.

(C) a draft may pull smoke away from the detector.
(D) noises from outside may muffle the sound of the

detector.

8. What is the main focus of this passage?

(A) How firefighters carry out their responsibilities.
(B) The proper installation of home smoke detectors.
(C) The detection of dead-air space on walls and ceilings.

(D) How smoke detectors prevent fires in homes.

9. Which organizational scheme do the list of instructions
provided in the passage follow?

(A) Chronological order by topic
(B) Hierarchical order
(C) Comparison-contrast

(D) Cause-and-effect

10. The passage states that, compared with people who
do not have smoke detectors, persons who live in homes
which have smoke detectors have a

(A) 50% better chance of surviving a fire.
(B) 75% better chance of detecting a hidden fire.
(C) 50% better chance of preventing a fire.

(D) 100% better chance of not being injured in a fire.
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11.

12.

13.

14.

Which of the following commissions/committees is

related to 'Educational reforms'?

(A) Jyoti Basu Committee

(B) Kothari Commission

(C) Malimath Commission

(D) Balwant Rai Mehta Committee

Which of the following schemes was initiated by the

Government to enhance enrolment, retention and

attendance in school?

(A) Mid-day meal

(B) Indira Gandhi Matritva Sahyog Yojana

(C) Integrated Child Development Services

(D) Kasturba Gandhi Balika Vidyalaya

Which of the following policies’ core objective is to

empower the individual, by enabling her/him to realize

her/his full potential through a process of lifelong

learning?

(A) Digital India

(B) National Policy on Skill Development and
Entrepreneurship

(C) The Science, Technology and Innovation Policy

(D) Sarva Shiksha Abhiyan

In which of the following areas is AICTE working ?

(A) Primary Education

(B) Teachers Education

(C) Vocational Training

(D) Technical Education

11.

12.

13.

14.

ARG 698 TG/ @FF 'dQl LAY AT YB  AU6T
?

(A) 641G Qg @FF

(B) 621010 Q¢8R

(C) amgel @diaq

(D) eRg2 QA 6616861 @8G

AUIRAER CMRIPB, PR QYA YQ° RITG RIS
QCRAIER AQRIQ 5F, YO FRIQ 69R 6ARRI QR
QQeem ?

(A) g 6RIFe

(B) @LQl Q191 QIgQ AREQIS €SS

(C) QnGe d¢ I8 62!

(D) @gSI QST QAFRI SR

FIRYS g 690 ARG QBT OlFq 2ALEIe
J0elq 1Re QU1 JYl QAR QU AIBRAE
QA A QA ?

(A) GaoIm agel

(B) @931 QI8 99° @6QUINR RIS ARG
(C) GRIF , 96T ¥9° 2eee aRd
(D) 9088l 2RQIe

FIREe AUQ 69w JGdec WRIRAGR QY @FeIN ?
(A) gledie Sl

(B) §9x Gl

(C) 9@ afeta asl

(D) 659da dal
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15.

16.

17.

18.

Under whose chairmanship did the National Advisory

Committee in 1993 advise on improving the quality of

the learning while reducing the burden on school

children?

(A) Prof. Yashpal

(B) Prof. N R Madhava Menon

(C) Ramamurti

(D) Daulat Singh Kothari

Which part of the stem in some varieties of cactus

helps the stem to expand and contract depending on

water availability?

(A) Ribs

(B) Buds

(C) Trunk

(D) Stolon

A catalyst increases reaction rate by

(A) decreasing the activation energy barrier

(B) increasing the activation energy barrier

(C) decreasing the energy difference between product
and reactant

(D) increasing the kinetic energy of the colliding
molecules

The Indian Parliament is composed of three parts.

First being President, what are the other two?

(A) Prime Minister, Leader of opposition

(B) Chief Justice, Governor

(C) Member of parliament, Justice of High courts

(D) Rajya Sabha, Lok Sabha

15.

16.

17.

18.

1993 6Q Q2 AAIIGRER AN ALVRRR *TT
JQ A9 9F QQQI AFC YN TREQ 6RIE @Y KA
QAR gge @l JIR aml ?

(A) g6xaq A9aIR

(B) 96TAQ 9 2IQ RIS 678Q
(C) Queg@

(D) 691RQ T°@ 6RI01R

- =< —

5% 48 gRIAe MIQEY ARAEa QA 68Q 2%
e AUNECI QTR AYARE B8 AFEE 62RAN ?

(A) d]a
(B) @@

(C) 9d

(D) 69621

QUIGINCE 9oRAQ 2R6R IR 2

(A) 98 9GARICIQ ATAGIQ ¢ @@

(B) 68 QG0eReoq AR9clg LR @4

(C) Q@ B 9FQEe QY@ ETQ NNIIGY A *@
(D) 2193 989a 958 98 9F @d

QR0IA TR F6aIT UIRIRG 69 G900 62IR8
| 9206 QIIAG 6LINYRI 66X AN QT @8 ?

(A) QRIFAGT, §AF @R 600!

(B) g8y GOIQQ0G , QURYQIR

(C) AIRRIEAEE AaQY , 2R 6RI9YER ARG

(D) QYQR , ERIRAB
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19. Who appoints Governors and Lieutenant-governors for

20.

21.

22.

23.

a term of 5 years?

(A) The President

(B) The Prime Minister

(C) The Vice President

(D) Parliament

The dye responsible for the blue colour of jeans is
(A) Safranin

(B) Induline

(C) Indigo

(D) Rhodamine

A round table has 16 chairs around it. If no two
persons can sit adjacent, then at most how many
persons can sit around this round table?

(A) 6

(B) 8

©c)7

(D) 16

Five friends P, Q, R, S and T, are standing at the five
corners of a regular pentagon. At most how many of
them are standing at equal distance from R?

(A) O

(B) 1

©)2

(D) 4

In a secret language, 'grapes are sour' is written as
'his maq wor', and 'curd is sour' is written as 'hew wor
tau'. What is the code for 'sour" in this language?
(A) maq

(B) wor

(C) hew

(D) tau

19.

20.

21.

22.

23.

AFITIR B AANAIRG @9 8 Q¥ Gaee QT AIB ?

(A) QUIAG

(B) QISART
(C) 29- Q|G
(D) QIR

G220 919 aFf dR 629 QIR YURTIQ AA IR
(A) ATIRIRQ

(B) QR24RI9R

(C) Kdsall

(D) 6QIIAlIQ]

6GIGN 6QlIM 699MA FIAUET €9G 6ola QEF | A&
62160 QR AINAY 601RP6R 9@ K8 & 9d6Q 606R
6R6G FEl Q4B T 6dliM 609M QIR UET @ AFEe ?
(A) 6

(B) 8

©7

(D) 16

"6QIGN QRIS AERER QIS 6RIL6Q A [ QY
PQ,R S8 T @¢ 621988 |ROIQ QA7I? 990I6Q
6R60 F9 AR 80! 621R8E ?

(A)O

(B)1

€2

(D)4

@ 66191 @IEQ 'grapes are sour' @ ‘his maq

wor @2l ‘curdissour' @ ‘'hewwortau' 6mdll
6RIRAIN | IE QIVEQ sourQ  6RIQ X8 G ?

(A) maq

(B) wor

(C) hew

(D) tau
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24,

25.

26.

27.

In a group of siblings, each girl has three sisters and
five brothers. How many siblings they are in total?

(A) 7

(B)8

©)9

(D) 10

In a certain language, STAKE is coded as EKATS.
How would SYSTEMATIC be coded in this language?

(A) CITAMETSYT

(B) CITAOMETSY

(C) CITAMETSYS

(D) CITAMETISY

In a town, for every two females there is one male.
Which of these could be the population of the town?
(A) 31,000

(B) 33,000

(C) 35,000

(D) 37,000

In a queue of 15 persons, Sita is standing at fifth
position from front. Madhu is standing at the last, and
Shivi is standing at fourth position from last. Sita and
Shivi exchange their positions, and then Shivi and
Madhu exchange their positions. Where would Madhu
be standing now?

(A) Last position

(B) Fifth position from front

(C) Fourth position from last

(D) Front position

24,

25.

26.

27.

6@ldd OREQ QAR Wl Face , 9F T GF @Rl
B 8 QIR 2AE | 6QA7IEE AT 660 AR QRGN ?
(A) 7
(B) 8
(©)9
(D) 10

6al6d @ GE] @AI6a STAKE @ EKATS ®I6@
6R1Q @9l JIR8 6QF @ISI6Q SYSTEMATIC ¢ &9
610 @9l IR AR ?

(A) CITAMETSYT

(B) CITAOMETSY

(C) CITAMETSYS

(D) CITAMETISY

60l ARAEA I6 QR @l AZRIER V68 YRS 2eE |
FARGS TUQ 6906 ATAQ FAA°HY 62IRAIER ?
(A) 31,000

(B) 33,000

(C) 35,000

(D) 37,000

6GIGN MIP6Q €8 K4l Fel 62In8E , dol danQ 8@
IR Tl 62IAT 71 6IT6Q QI 621G , I I
6899 38 QInea 8¢l 6gIad Aol B 87 6T QR
J0eRe @R 9e° 96Q d@ B Y 6AFINFR QI
JRQES F6M G €1 699 FFER Be 621R8E ?

(A) 689 296Q

(B) gaiq QB¢ 2IRea
(C) 689Q %l QIRca
(D) 2I96Q
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28.

29.

30.

31.

Harish has two children, NOT both of them are girls.
How many sisters will Harish's only son have?

(A) 4

B)1

)2

(D)3

A dice on which numbers from 1 to 6 are written on its
faces is taken and is thrown. A 3 X 3 square grid is
taken, and its rows and columns are numbered from
1 to 3. One of the boxes is selected from the grid such
that the sum of its row and column is same as the
outcome of the dice. Which of these boxes of grid can
never be selected?

(A) Centre box

(B) Top row, leftmost column box

(C) Rightmost column, bottom row box

(D) No such box is there

What will be the next term in the series

14,196, 2744,  ?

(A) 78912

(B) 44696

(C) 23716

(D) 38416

Which of the following can be considered as a formal
agency of education?

(A) Cinema

(B) News paper

(C) Museum

(D) Radio

28.

29.

30.

31

208w QRG 429 , QR IR T2 Ge8 QAT IRAIQ
Jea 6960 F¢ Q@€ RS ?

(A 4

|1

©)2

(D)3

e Q9 6mell 6RINYQI 6QITN QG 69IT] QLA FQ
CFIIIB QLM 6QITN N*N Q] FU ARG, 9&° LI
UG 6 2A6Q ¢ @ M adie FF0 @Al UIRE A8 JevQ
QQQ YEA Y@ QIRd QIF 6996@ § B A AAIT
QY 6T FRITR AL AR (LIRS FINGS 1R
629 QIRAT 6269 G Q8 QA RS QE ?

(A) 62962 29l AR

(B) 299 dIGQ ,Qlf 2aQ QAR

(C) @I21d Al 22 , 9 UFQA A/
(D) 6208 693 QIR QIF

RY , RCY , 99%Y , AUACR TARA AHIT @
629 ?

(A) 78912

(B) 44696

(C) 23716

(D) 38416

FIRYS g 6QReg YR NI U6Fed @R
928 @al dIf AQ 2

(A) 0799

(B) $Q0RI9IS

(C) @°gIgns

(D) 6901
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32.

33.

34.

35.

Which of the following qualities would appropriately
define 'learning'?

(A) Understanding, imagination and skills

(B) Change of behaviour, practice and experience

(C) Creativity, conviction and endurance

(D) Intuition, intelligence and Imagination

Out of twelve years of schooling, eight years are
termed ‘elementary education’, which was made
compulsory. To which of the following age group does
it correspond?

(A) Between 5-13 years of age

(B) Between 6-14 years of age

(C) Between 7-15 years of age

(D) Between 4-18 years of age

Which of the following reasons prompts us to teach
mother tongue language at primary level?

(A) It helps in the child's intellectual development

(B) It helps in the child's numerical ability

(C) Children learn better and faster in a language they
can understand

(D) It develops confidence in the child

Attaining of which of the following attitude is the

objective of elementary education?

(A) Critical thinking

(B) Confidence

(C) Reasoning

(D) Comprehension

32.

33.

34.

35.

FARGe AUQ 689 g8 OR @S JTQ AR
QUIRAIN ?

(A) QuIPdl , GBI 6 VG

(B) QY92106Q JAQRR , ARUIA G ARRS!

(C) Yo 93 , Q41 8 ARSI

(D) 2898 , ®Ie 19° 529

QQ Qda glefe ddl @@ AU A0 98] " Jede
91 " QI6Q gadl @l UIRE | dIel QRGNS 26T |
SRS TUQ 69X QAACAINIG 2 QIR &I ?

(A)5 @ 13 Qd
(B)6 @ 14 Qg
(C)7 @ 15 qd
(D)4 @ 18 Qd

Qud
Qud
Qud
Qad

FIRYS RIQ 699 QARG 2R gRIFe IR6R FAIgRIS
9l QQIRQl AR  691Q@e Qe ?

(A) 92 Jge QIR GRI8 adeld

(B) 2l diga AEe Q96 9F Qqi g

(C) §g. @ WIBIg FI§YRIQ end dgaN 8 Qe
(D) GgQ 716918 QQIReIN

FIRGe AUQ 6R9 RIS JAdl 6291 FIal AR
JANA ARG Yd 62NN ?

(A) QRIS TIRUIA

(B) 2Ig) Y4q14

(C) Qelgial

(D) 6916
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36.

37.

38.

39.

Where are students with severe learning disabilities

taught?

(A) General classroom along with the students without
disabilities

(B) Self-contained special education classroom

(C) No special place in particular

(D) Staff room

The rise of Montessori-based education has led to the

adoption of

(A) Teacher centered method

(B) Hands-on instruction method

(C) Collaboration method

(D) Problem solving method

Which of the following could be a problem faced by a

student who continuously rubs his eyes and pays less

attention during blackboard work?

(A) Dental problem

(B) Mental problem

(C) Vision problem

(D) Audio problem

What would be the ideal suggestion to a teacher when

the back-benchers are always talking in the

classroom ?

(A) Allow them to do what they want

(B) Give punishment to them

(C) Make them sit on the front benches

(D) Ask them to leave the class

36.

37.

38.

39.

919 dNEIA AAIFEG! el ISAING 6RR0I6Q S

QR @al dLaN  ?

(A) ARSI 654116Q 6AR0IBQ 2R AFIRY BIGFISR
agaIg

(B) 99°- Q¢4 QI 907 689160

(C) 6204 6093 7aq AR Q6L

(D) Y= 6@

Q696QIQ1 RIS FRI e FIRYS IR QLS
G28 AR AUYl 6AHIRT ?

(A) 99 6259 QI

(B) gl6ISN® G6ad Qg

(C) Qg6QI9 QL.

(D) QAQYI QAR QK

RRAG AT ANACA ARG Y QA I Q€ IR
60R2Ql 8190 RIAd GRS CRIQ XA AU ?

(A) Qe aaql

(B) qugda aaqyl
(C) 9% &@ Qaqul
(D) g<d €@ aaQl

659160 A8 6986 QY TRIFIER AFERER @2l
620291 J0RG6a J99 2E Q6A @8 [A6R ?

(A) 62168 QI ILRE G121 *GIg 6969
(B) 671G Q8 696Q

(C) 6Q7Ieg  daIfl 6a%6q QQRlg @F6Q
(D) 6841 818 QIRLAIQ KF6R
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40. Which among the following is NOT an effective way of ~ 40.

using the blackboard in a classroom?

(A) Blackboard should be thoroughly cleaned before
putting it to use

(B) Rub the board in a haphazard way

(C) Minimize the glaring effect of light on the board

(D) Write legibly in straight lines

FARES FUQ 6906 RITC! QIR FARIQ Y@ TFRYD
QUG 6QR FaAN ?

(A) RTIQ ARRI gag Welg JAs @al 9l |50
(B) 99agl 951 9f ATl @@

(C) O%I ATER 2RI JETRF K2AARS @7 QYS!
(D) 0% 6QHIER JAVIQ W6 6RYS
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41.

42.

43.

44.

45,

46.

Section - Il

Odia Language

_elue ajZaWaW cV @Q6 ueLiuZ g+Ue gje_ aiQd
() _€l

@®) _€l

© -

o) -

‘ifle’ea ci*gtUK’Y ?

) i_Kie

@) i_0e

) i_Qie

(o) 9_0ie

~cfLZ coe 1VK g+UK Pji@o

) hiYiiK

@) 1YIiK

) HiYciiK

() 1UCiiK

_Zcl 1iciRK ami™ bf_0X6 G[ue [al _ZydUK Pji@o
(a) ICIR+AK

@) HICi+RK

) HicR +AK

() TCR+BK

glK Qizciru _[IV _XIAuft G[ue [ai Kdi_\UK Pji@d
(w 91K

@) QZciu

© -V

) _XAuf

‘@IiL U\LIAal’ eXxUe IVKC e \i"Ked

) "Re _KiAai

) @iLle @IL cgiAal

) OIL _eiliKeal

(0) bd KelAal

47,

48.

49,

52.

glKK 11" \@ G[ue [ai C_IMUK Pji@ i
() Tc+cih

@®) 1"+cih

) ic+@»

o) T+ci?

M gtUe al_eiZ g+ K'Y uja?

@ "N

® i

) bKiel

() Meal

cji™\iue \g~U _IY ajQiG[ue uKCU aughy ?

() CJi™\ite

(B) \g‘U

©) Y

o) aiQ

‘PZKiUal’ eXUe C e _\"Ke
) K_ikie PZKKiVai
@) PiCkie PZiKiVal
() USIU i\al

() VKal

IVK gzUK PJIA\@
) @igih

®) @igh

) Qigi

@) @ih

@IMZe al_eiZ g+ Pji@d
() 0NMZ

@®) aiMz

©) \elMZ

() aMz
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53, IW@I a%cikile UKUZIU gjEeah ejQ?
» 4
(8 °
© 6
o 7
54, ~cfLZ cue 1VK g+U aiQo
) icj
@®) ICj
©) icj
) 9C]
s5. Cji™\ile QUMK \i_ @06 dleLiuZ gte O[ K'Y?
) \_
) JEI
(©) ikbiM
©) ~iile \AU_I\
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41.

42.

43.

44,

45.

Bod Hmed’ VG GHIET EOAZE
(A) Ho9880

(B) dozeasin

(C) 5755

(D) e950835°58m

SIS o0&

(A) 33

(B) &o08 grdo

(C) serie

(D) 58¢5er0

8BS, B @ DY (H5000?

(A) &xdas

(B) &daH

(C) 588

(D) &%

TEGED F0E) GrarR FPYBEH BeHod
NX00EPE?

(A) B5e5E

(B) 90883758

(©) @éagoﬁo

(D) 2665@2630

S 2erii08%D S8 &E)5EPH ADoK
DX00ETE?

(A) @;262633

(B) 88ea50

(C) &gz

(D) o$Ho(gsm

Telugu Language

46.

47,

48.

49.

50.

KDY ©FBLNe HHENID DB D?
(A) &R

(B) g0

(C) Hs0

(D) ag50

e és@éé o

(A) J58as0

(B) @3’090

(C) H09

D) &%

‘e eer)om éo@e‘i‘s S5edEg0” mé?goé‘s 22&H0
oraHod

(A) eeryom

(B) 58

©) 253@65

(D) 5&® SreB¥s0

ot Séacg:éaﬁn 2PN DDI0ETE?
(A) e‘éé“)‘cﬁao

(B) 8§50

© wzéa§o

(D) @2653%230

2.8 H508° 258 Sor wosEeB KNS Seen 3

TPUIH00ERE?
(A) zﬁgeSSKJo

(B) 58585050

(C) Sprssioo

(D) Zégﬁg)aééeao
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81C

51. &8 (808 A’ ©3ErHE (BoHd SredoRe?
(A) &r80 36
(B) ar80 SB35
(C) rBo £330
(D) &80 StoHee
52. gPRE SreRddd &?
(A) §%6
(B) &9
(C) 2y
(D) cren®
53. §5oel dDGore a&S Bohosr DD TG00
DK00ETLD.
(A) gaeego
(B) S@é @@o
© &R G0
(D) &rsygo
54. Bow, &oko, 3)35&&) @E@Saﬁwmm BOAS HBo
(A) SBea0
(B) &S0
(C) 880
(D) Hoo
55. 0)08° Syt
(A) o0&
(B) So8men
(C) Rressm
(D) 3r0e3
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Urdu Language

G A EFF Lo o AL L S S s
UGS L) LSS 4 2 ()
Ll 5IE -(B) iz 5 (B)
Sl Oup LI L-(C) L #1450 (C)
< & 1ty ) LAIGLD)
,;t/;/fiugﬁ:uﬁu@‘f%/@pﬁd//%f 42. _‘agf.:‘;i/"%/g 46.
Je @) 27 ®)
VU4 ®) A1/ B)
W13 5(C) 27 (C)
o447 (D) y (D)
S 4. Py
A s JE L UF 2 s (A)
EI®) At e LN s1.0531% o3 (B)
Z(©) e bsE 1l Lg% 1 (C)
L1(D) st el o2l 2 103 (D)
—e e BIE s 44, ‘,4@;%535‘«.@&5 48.
&l () L7 ®)
& Li® 237 ®)
& 5(© 22 ©
e .L(D) ) }(D)
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81C

‘c‘-g,f/ufuﬁd;‘diuﬁv 49.

J; fJJ(A)
PIEG)
IJ#(C)

V' # (D)

e LU Ut S Tl 50,

4l (A)
~U(®)
¢’4©)

2_(D)

e LIS L BL

U /B (A)
ds ®)
1.1 (C)

42 (o)

—e bl PSS L L 52,

U(A)
< (B)

~(©)

}j(D)

ce Pl s 5,
G M)
ds®
131(C)
§' )
e W2 LS e s
( I(A)
Se
=24(C)
S6 D)
e B e 1 s 5.
Lo SUW 7 )
Lo L3S ©)
U8 Uin©

Lk UY s (D)
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81C

41.

42.

43.

44,

45.

Santali Language

TAPUG KECED AZAF Do oKA KANA
Pd

AT

(B)G

€)1

D) t

“DULA.Z” REnAg ULTA. AZA. LAy mE-
(A) DAYA

(B) hirka.

(C) joTon

(D) rag

“majHI” SaBaDx REnag TalLa joToj

LekaTe okatag suhi sabaDX kana
—

(A) Jogx maJHI

(B) majHI ERa

C)mapaji

(D)majHIYan

“hat bahaTE baHaG” bHEnTa

KATHA RENAG JoTHAT mANnE Do
okatag 2

(A) hazam hoz

(B) pawra.

(C) sajawoG

(D) paldug

a.za. agaTl LEKaTE “BoR” a.za.
renag sa.ri Do okatag™

(A) Boron

(B) obor

(C) boroz

(D) Borgon

46.

47,

48.

49.

GUnUn sabaDX okataG baf kana™=
(A) haryaz

(B) hazhabD

(C)maric

D) je.leq

“ol” renag barabari aza. bacHaw
me-—

(A) Tol

(B) or

(C) helbe hozej er

(D) sereq

“biDESojx” a.za. Do okatag kana
2

(A) sen

(B) 1at

C) quT

(D) TETEF

GUnUn renaG sUhi panarsi lay
me=2

(A) JAIhA sAbADX mone renAg suk,
DUK, RA.SKA., hAhAzA
eman ID1 kaTe BHaBX
SoDoRoG—-a ona Do gunun ko
meTAG-A |
(B) Qunum boDoL TE JAIhA SAbADX
BEBharog a, onabo
gunun ko meTAg A
(C) JAIhA DoMo TE JAIhAy
haz,samogri ar Thanw renag
quTum bujHAG A,onA Do Gunun
ko meTAG-A|]
(D) JAIhA A.zA. qunum Ar ugum renAg
gun, DOS, IEKha, ha.l,
orjo, rof eman bujHaG-A
ona Do gunun ko meTag-A |
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81C

50.

51.

52.

53.

54.

55.

okatag Do men kaTHa BaF kana 2
(A) kakza Do jalGE BhOr GEy Da.za |
(B) hoZ borsa TUba. rasa |
(C)magaz gupi senog |

(D) seTa GoG kaTe selDXRa |
mohAPorAn borno DHoni Do
okatag kana 2

(A) Ko

(B) THo

©)no

(O)Ho

‘Tiri’ sabaDX renag TOgeln joToj
Do oka 2

(A)TiTri

(B) juri Tiri

(C)gaTeq Tiri

D) Tiril

“oTnog” a.za. Do oka a.za. kHon
benaw akana 2

(A) DHARTI

(B) BosmoTA

©)oT

(D) sosonog

okatag Do qunum baf kana 2
(A) LAJ

(B) Goj

(C) buru

(D) KOolKaTa

“TOPO” REnag baRabaRi sabaDX
okatag baf kana-

(A) um

(B) reyazog

(C) 1olog

(D) da.bxra.g
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81C

56.

57.

58.

59.

Find the HCF of 24 and 36.
(A) 4

(B) 6

(DX

(D) 12

What is the approximate square root of the sum of first

20 natural numbers?
(A) 13.2
(B) 13.8
(C)14.1

(D) 145

A=1{0,2,3,4,6},B={1,35,7,8and C = {0,2,4,5,7}.

Find (AnB)nC
(A) {3.4}

(B) {0,1,3,5,7}
© {7}

(D) Null set

Three angles of a triangle are in arithmetic progression

with a common difference of 20 degrees. What is the

smallest angle in that triangle?
(A) 30 degrees
(B) 40 degrees
(C) 50 degrees
(D) 60 degrees

56.

57.

58.

59.

9% 6 MY Q G.dlY QLA 99
(A) 4
(B) 6
(OX:!
(D) 12

gaa 90§ gIgie IR MDY TR 6X68 629
?

(A) 13.2

(B) 13.8

(C) 141

(D) 145

A={0,2346},B={13578} 6 C={02457}.
(ANB)NC  QI2IQ !9

(™) {34}

(B) {0,1,35,7}

© {7}

(D) 9% 696

69T GRRA G6RIT 6@I8 AABA 68LQ1EQ 90 G
ARG QURUIFER 2eE 68 G JGOT 6RIEQ AT
660 629 ?

(A) 30 @9

(B) 40 &gt

(C) 50 @gt

(D) 60 @91
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81C

60.

61.

62.

63.

Cost of a diamond varies directly as the square of its
weight. A diamond fell down and broke into pieces
whose weights were in the ratio 2:3:4. What is the loss
due to breakage, if the initial cost of the whole
diamond was Rs.1,62,000 ?

(A) Rs.42,000

(B) Rs.58,000

(C) Rs.1,04,000

(D) Rs.1,50,000

If the length of the chord which is at a perpendicular
distance of 7 cm from the centre is 48 cms, then the
radius of the circle is

(A) 20 cm

(B) 25 cm

(C)30cm

(D) 50 cm

Father's age is 4 times the age of his son now.
10 years ago father was 10 times as old as his son.
What is the present age of father?

(A) 50 years

(B) 40 years

(C) 60 years

(D) 80 years

Price of an article is first increased by 40% and then
reduced by 20%. What is the percentage increase in
its price?

(A) 10%

(B) 12%

(C) 20%

(D) 25%

60.

61.

62.

63.

6719 98 21 gRY LR B99Q Q6 A2 UGS
AAIGAIT 62IRAN 691N Q1R G6R 9 QI~JaR G
9.9 UQAIGER ¢I8 HE 6N | 9 2R YIABR
amy ©,99,000 Ol 6RIRAN , 666 WTLQ! RAEQ
660 B 629 ?

(A) Rs.42,000
(B) Rs.58,000
(C) Rs.1,04,000
(D) Rs.1,50,000

QRQ 699 OIg © 627 9EQ ME W6 QYS! 66lc
QUQ 6844 ¥ 645 26T | 6969 WRIQ MIABQ 636y
6@6Q 689 ?

(A) 20 644
(B) 25 628
(C) 30 615
(D) 50 644

e 999a ¥ gd 62l dold Q9 ko Q¥ gee Jdom
Q0 99 99da o gdl Jnl JoIF FAFIe SO 6R6%
?

(A) 50 Q8

(B) 40 98

(C) 60 Q8

(D) 80 @8

60IGN QYR MY JeUET ¥o% QLI FUTN B J6Q
QIRIg 90 % @7 @4 UM LA INIEA FRS!
6Q6G Q& 629 ?

(A) 10%

(B) 12%

(C) 20%

(D) 25%
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64.

65.

66.

In a class 35 students passed in English. 25 students
passed in Hindi and 10 students passed in both. If
there are 75 students in that class, what percentage of
the students failed in both the subjects?

(A) 20%

(B) 30%

(C) 33.33%

(D) 40%

In the given figure AB is parallel to CD. What is the
measure of the angle TPS?

P

iy

(A) 50°

(B) 60°

(C)70°

(D) 80°

The cost of 3 bananas, 4 apples and 6 mangoes is
Rs.29 and the cost of 2 bananas, 6 apples and
3 mangoes is Rs.23. What is the cost of 7 bananas,
16 apples and 12 mangoes?

(A) Rs.60

(B) Rs.75

(C) Rs.90

(D) Cannot be determined

64.

65.

66.

9@ 6946168 N8 R4 BIF A6YREA AIQA 62RBE 98
R 819 §016Q A 6LINEE G o @8 88 QAR
dIY 621088 | 4G 698 69416 98 K8 88 ARAR,
6060 J0RGI 6@60 B8 QY FTAER 6T 6RBE ?

(A) 20%
(B) 30%
(C) 33.33%
(D) 40%

Q@ Gg6Q AB , CD QIeQ 6gla Q@8 | TPS
ERINIR FlId 6960 699 ?
p

A

T 5

1

507 0 R\

(A) 50°
(B) 60°
() 70°
(D) 80°

N Q@1 , ¥ 6dq 8 9 A gmi 9¢ o&l 9Q° 9
@A, 9 69Q BN QA g 9N o=l ST |9
@an1, €Y 6dQ BRI QA I 6@6L 61 ?

(A) Rs.60
(B) Rs.75
(C) Rs.90
(D) 3QIe @l 9IQ ABe QF
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67.

68.

69.

70.

How many perfect squares are there between 200 and
10007?

(A) 15

(B) 16

(C) 17

(D) 18

Smitha and Geeta have marbles in the ratio 3:2. Geeta
and Reshma have marbles in the ratio 3:5. If they
have 250 marbles all together, how many marbles
does Smitha have?

(A) 60

(B) 90

(C) 100

(D) 120

The difference between Compound interest and
Simple interest on a certain principal for two years at
20% rate of interest is Rs.25. What is the principal
amount?

(A) Rs.500

(B) Rs.625

(C) Rs.750

(D) Rs.900

The HCF and LCM of two numbers are 12 and 216
respectively. If one of the numbers is 24, find the
other.

(A) 72

(B) 108

(C) 216

(D) 432

67.

68.

69.

70.

900 B Qo000 FRIGA 6REAIT Q4 QG T ?

(A) 15
(B) 16
(C) 17
(D) 18

gol 6 Q19 AIFER N9 UQUIER RIS 64T QT | 1S
8 6ol QIR N8 AGUIGER @RIQ 69T QTS | 9T
AU QIS 69T AW 980 6QRAN , 6962 FO
AIY6Q 66215 QIO 6315 QAEE ?

(A) 60
(B) 90
(C) 100
(D) 120

@ 588 9RAI9Q ¢ge G768 90% QI 2N 9
QdQ 6998 QG AR P UAR NRUK 98 T
260 | 9RIQ RIG RIS 6Q6C 629 ?

(A) Rs.500
(B) Rs.625
(C) Rs.750
(D) Rs.900

Qa0 AWIR 9ALY B8 RALG QaFET €9 B IR AT
| @l AIQ 9T 6QlIGN QY 9% @4, 606Q AMG
6@60 629 ?

(A) 72

(B) 108

(C) 216

(D) 432
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71.

72.

73.

74.

75.

Home Rule Movement under the leadership of Annie
Besant had its headquarters in which of the following
states of India?

(A) Chennai

(B) Bombay

(C) Calcutta

(D) Gujarat

The construction of Mallannasagar reservoir as a part
of Kaleswaram project will submerge a village in which
district of Telangana?

(A) Medak district

(B) Warangal district

(C) Karimnagar district

(D) Mehboob Nagar district

The function of planning and coordination of legislative
and other official business in both the houses of

parliament has been allocated to which ministry?
(A) Ministry of Parliamentary Affairs

(B) Ministry of Foreign Affairs

(C) Ministry of Finance

(D) Ministry of Human Resources

The partition of Bengal took place in which year?
(A) 1906

(B) 1904

(C) 1905

(D) 1907

The Equator runs towards which direction?

(A) North-South

(B) East-West

(C) West-North

(D) East-South

71.

72.

73.

74.

75.

AIF 696I3F 627 QA ERIRGA 679IR  FARGS
RIQ LIAGR 699 JERsea TG Rl ?

(A) 6021
(B) @69

(C) QARG
(D) Qgeie

R6RYAT 6716979 220 IRAAGA 37 ABIQ IS
Q09I Il COERGIAI AIFIQ 699 aRI GG LTI
Q&g ?

(A) 6908 FRI

(B) Gloera @R

(C) *Q¢ 99Q &R

(D) 661292 QIR FRI

JRCAGR 0L AFQ  2Re AN G2l 9YQ
QT 6LIRRI QAR 9&° AV 0@l F63 e
28Ry QdQ Fa A8 ?

(A) ARAEAGE QUL ARSIR

(B) 6G6a9a A18IRR

(C) 28l ARSI

(D) QIGe AR ARdlIRA

e GaIee 629 AJTea cIRYRI  ?
(A) 1906
(B) 1904
(C) 1905
(D) 1907

dge 6adll 699 Qdea 9F QAaN ?
(A) 2e-9F4

(B) 9< - 9élal

(C) 9di¢l - aaa

(D) Q< - @&
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76.  Which among the following places in India receives 76. QORGE MUY QRGN 698 REA AT@ 2AALT AR
the lowest average annual rainfall? QRAIe 62IRAN ?
(A) Cherrapunii (A) 609198
(B) Mawsynram (B) Tq%iﬂ\
(€) damfia

(C) Jaisalmer B
(D) 6221699
(D) Neriamangalam

77. Most of the asteroids are concentrated between the 77, 2yerd 9RIg 98 FIRYe dUg 689 9aF dea
orbits of which two planets? QS Q2 AT6Q @9l 62 QRalE ?
(A) Mercury and Venus (A) Q6 99

(B) qlere 6 922G
(€) 49 6 qaa

(B) Mars and Jupiter

(C) Venus and Earth

(D) 41 G e
(D) Jupiter and Saturn
78.  Which veda dealt with magic, hypnotism etc.? 78. 6R9 699 AIg JQu , 6FIER GQu AT FILeR Qgal
Qg ?
(A) Rig veda (A) Qg 699
(B) 9g6e

(B) Yajur veda 2
(C) o8 699

(D) QIF| 68@

(C) Atharva veda
(D) Sama veda

79. Which among the following is the last and the thinnest ~ 79: G9R%E IR 625 SN QYALRR AQOIQ 689 Gall

layer of earth's atmosphere? doml 9 eLIRaN ?
(A) Troposphere (A) g6aIIARQ
(B) q/601@2Q

(B) Stratosphere
C) 6mIga 9
(C) lonosphere (C) 6mIgaQ

(D) 96RQIFLR
(D) Exosphere
80. Who among the following invaded India in the 10th 80. QANYS AUR @I eofI G Y JOINIER WAL FAE
and early 11th century and established sultanates in @ AR godl QQgem ?
Delhi?
A) 2IQQ
(A) Arabs ) )
B) ¢@1
(B) Turks ®) ¢ .
(C) a1y
C) Aryans <
(©) Ary (D) 9l
(D) Persia
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81.

82.

83.

84.

85.

The Government of India launched a
Management Programme" as a State sector scheme,
to provide Central assistance to the States for taking
up flood control, during which five year plan?

(A) Nl five year plan

(B) V five year plan

(C) VI five year plan

(D) Xl five year plan

Which amendment deleted right to property from the 82.

list of fundamental rights?
(A) 45t amendment
(B) 44t amendment
(C) 43d amendment

(D) 42nd amendment

Geographical grid is a network of 83.

(A) Parallels of latitudes and meridians of longitudes
drawn on a globe

(B) Tropic of Cancer and Tropic of Capricorn

(C) The North pole and South pole

(D) Equator and Tropic of Cancer

The term 'Socialism' was included in the preamble of 84.

the Indian constitution in which year?
(A) 1974
(B) 1975
(C) 1976
(D) 1977

In which year did the British introduce the electoral 85.

principle into local bodies in India?
(A) 1884
(B) 1888
(C) 1892
(D) 1896

"Flood 81.

609 J8QISR 6UIRRIER AMYFY I ATACA 61
QUG 6ANIA 6@ FF6E WA AR " QY|
AQIRR  6AIRG " R QQdem ?
(A) Il 95Q18Q 6QI9%

(B) V a8Qifie 619!

(C) VIl 98eifie 6QIea!

(D) Xl 98QI8e 6QI9Q!

6F1AQ TRIFIAA GIRRIQ 684 ACHRIA FIRIICR AHBIE
YR 2AAIRE KA AIRYRI ?

(A) 45" Q68T

(B) 44 Q681G

(C) 43 Q68IRIS

(D) 42~ Q6dIIR

6LI6IRR FIR IR 659ER 62IRAN

(A) 691699 e @l IR  AIBAR AVIE 9Q°
QIdal 9ea

(B) 9a¢ 9B 6 Aeq QB

(C) @@Q 679 8 9848 6719

(D) 392 699l B a9 FIEQ

"EIFRIR " 9L QIASTR AN IR AR 689
QR 2GS 6AARARI ?

(A) 1974

(B) 1975

(C) 1976

(D) 1977

609 9d96a R°6ARFIEE WAGER ABFR AUR F76s
6RIF QIR JORR @Rglem ?

(A) 1884

(B) 1888

(C) 1892

(D) 1896
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86.

87.

88.

89.

90.

10 g of an ideal gas occupies 8 litres at NTP. The
temperature at which volume increases fourfold for the
same pressure and same amount of gas is

(A) 546°C

(B) 819°C

(©) 0°C

(D) 273°C

Amoeba is a

(A) Fungi

(B) Protozoa

(C) Bacteria

(D) Virus

Which one of the following is NOT an example of
eukaryotic cell?

(A) Paramoecium caudatum

(B) E. coli

(C) Euglena viridis

(D) Amoeba proteus

Kelps are attached firmly to rocks by

(A) Stipes

(B) Lamina

(C) Phycocolloids

(D) Holdfast

A body has a unit mass and is at a state of rest. Ifit
receives an impulse "X suddenly, then what will be
the acquired kinetic energy?

(A) x

(B) x?

€) x*/2

(D) 2/ x?

86.

87.

88.

89.

90.

Red6ea W@ 109l Q Ad U 8@ g
QRN 6QT QAR BIT B AAUR ATAIEIQ TN FIES 8RR
QAAIGIER FG OIF g8 adie 9F alRa ?

(A) 546°C

(B) 819°C

(©) 0°C

(D) 273°C

2IAQI 1R

(A) OF Q daq
(B) 69IG6R12ll
(C) goig

(D) @1a1g

FIRYS RIQ 69GE Y@ YRIEIITR 6RI9Q QLS Q6%
2

(A) gI6cidee QRIS
(B) R-6@IR

(C) 96951 @0&Qq

(D) 2691R%1 69109

AGe AIPIER A ATG FAQ 9L V6L AYB 62IR
ez ?

(A) 63599

(B) AR

(C) TIRERIERINIRL

(D) 62ing IR

6QIGNY GAIQ X' @@ 9gQ 0E8 Ie° 92l da oEF
Q8 2010 @A Y2 6916 IRIQ ARG AN, 606Q fiReQl
JIGe 6B 6@6e 629 ?

A x

(B) x2

© x*/2

D) 2/ x*
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91.

92.

93.

94.

In exothermic reaction
(A) Gas is liberated

(B) Precipitation happens
(C) Heat is liberated

(D) Heat is absorbed

A body of mass 0.5 kg travels in a straight line with

2 -1/2-1
S .

velocity v=ax*? where a=5m The work
done by the net force during its displacement from
Xx=0to x=2mis

A) 15

(B) 101

(¢)501

(D) 100 J

Bread mould is a

(A) Fungi

(B) Protozoa

(C) Bacteria

(D) Virus

Cells of tracheary elements (tracheids and vessels)
become dead at maturity and lose their protoplasm

due to the deposition of lignocellulosic cell wall

thickening. This is an example of

(A) Cell Growth
(B) Cell Differentiation
(C) Cell Dedifferentiation

(D) Cell Redifferentiation

91.

92.

93.

94.

6Ral ] gagauea
(A) SHIQ A6 6aIReN
(B) 248416 62I1R2IN
(C) eIg G0 29

(D) 919 2Q68IFE g9

QgQ 2@l U@ Qg AR 68l 6996 G5 @A

~1/2,-1
S

v=ax*?caec6acna=5m QY @Gl IR

Qe Ga6e AgQIe Jenlsl @Al 62iagel X =0 9F
X=2m

A) 151

B) 10J

(C) 501

(D) 100 J

AIRQTER RGeS TF 9@
(A) @t Sl daa1

(B) 6915612l

(C) golg

(D) F1914]

JAGMQ 6@I8al QAGIE (GEe 8 696AR ) QG
6291 d6q (o 62l QB NOFeARIENITR
6RISRI QA 620 FNIQ QIR 6AISI FARRAIQ IR
69169191971 F1d QY 6RIRAN | 98I AR RAALAS 26T

?

Qe

(A) 62181 Q&

(B) 621821 J60Q10Q4!

(C) 6213R 281- FERMRAE]
(D) 621801 998 — F6RQ1RA4
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95.

96.

97.

98.

99.

The microbes or bacteria which converts atmospheric
nitrogen into nitrate in the soil is

(A) E-coli

(B) Yeast

(C) Clostridium botulinum

(D) Rhizobium

The velocity — time graph of a body thrown vertically
up is

(A) A straight line

(B) A parabola

(C) A hyperbola

(D) A circle

Different kinds of structures develop in plants in
different phases of growth or in response to
environment. This ability is called as

(A) Plasticity

(B) Elasticity

(C) Heterophylly

(D) Differentiation

Which of the following gases has rate of diffusion 0.88
times that of phosphine?

(A) NO2

(B) N20

(C) CH4

(D) CzH2

Which of the following is a hon-decomposition
reaction?

(A) Thermal decomposition

(B) Electrolysis

(C) Photolysis

(D) Addition reaction

95.

96.

97.

98.

99.

6R9 QUIEREERI QI FIRERIRY AFEIHER gQl
QIRESIEFRG FIT6Q FRNESETR  QUIBAG @GRIN ?
(A) Q-621R

(B) @3<

(C) 9695 aS@aa

(D) Q6x1G9¢]

6AIGN QIR QRG] VIES AAAY INIREM LI 694! -
ARQ 6ANHIGE @AQ 629 ?

(A) 9@ Q0% 6xdll

(B) 98 QIQUEKIR

(C) 9@ IR IR

(D) 9@ 9@

A0698q JoTwl 6adia @ R SEe advuasa
RN AR OF QA 69gq FRAN | IE Q0Iq 4
QeIAN ?

(A) ARG

(B) aa1Q4s

(C) 62666QUTIRM

(D) Q609104

FARYS FUQ 69R QNIQQ JARS TFATR] OlQ o.rT
Qe YR 6RIRAN ?

(A) NO>

(B) N2O

(C) CH4

(D) CH2

FARGS AUQ 6965 IR Ud- FARe JOFAl 26T ?

(A) 9198 ARG
(B) Q6R6R9IMAY
(C) 6crieeIndq
(D) 2502 gaal
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100. The value of Cp and Cv of certain elementary gas are 100. 6qleQ 671a@ QM@ Cp 6 Cv @ QelIges

441 JkgK-1 and 315 JkgiK- respectively. 10 g of the 441 JkgtK-t @ 315 JkgiKt 265 | 10 gl oM
gas occupies 6.225 L at 27°C and 1 bar pressure. The 27° 6Q 6@ 6.225 @ QIP 92§ @R 9&° 1 QI SId
atomic mass of the gas is NIQ 2GR QgQ 699

(A) 20u (A) 20u

(B) 40u (B) 40u

(C) 60u (C) 60u

(D) 10u (D) 10u

Space for Rough Work:
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Space for Rough Work:
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3. Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, earphones, scanning

devices, pagers, log tables etc. to the Examination Hall.
Any candidate found using, or in possession of such
unauthorized material or involved in copying or
impersonation or adopting unfair means or behaviors will

be disqualified and may be subjected to penal action.

4. This examination is of objective type. The Question
Booklet consists of two sections: Section | and Section II.
Both sections are compulsory. Section | contains 40
guestions from General English, Education, General
Awareness, Reasoning and Teaching Aptitude. Section Il

contains 60 questions.

5. Each question from 41-55 has been written in Odia /
Santhali(Olchiki) / Urdu /Telugu language. The candidates

applying for D.EL.Ed. Telugu/Urdu/Santhali (Olchiki)

courses are required to answer their specific language
portions at serial number 41 to 55. Other candidates
applied for D.EL.Ed. course are required to answer the

Odia portion (41-55).

6. The Diploma in Art Education (Visual) candidates are
required to answer the questions from (41-55) as per their
Mother Tongue. Questions from 56 to 100 are from
Mathematics, Social Science and Science, which are

compulsory to all.

7. There are a total of 100 questions and the total time
allotted is 2 hours. All questions are compulsory and carry
1 marks each. Every correct answer will get 1 mark and

0.25 marks will be deducted for every wrong answer.

8. The candidates must check that the Question Booklet
has 100 questions with multiple choice answers. If any
discrepancy is found, immediately report to the Invigilator,

so that Question Booklet may be replaced.

9. Each objective question is followed by four answers out
of which one is correct. Your task is to choose the correct
answer and mark your answer on the OMR Answer Sheet,
NOT on Question Booklet.

10. Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken only one circle for
each answer. The CORRECT and the WRONG method of
darkening the CIRCLE on the OMR answer sheet are

given in the example below:

Correct Method

0000

Wrong Method

o) JO)

000
0O ®00
O0®0O

11. Use blue/black ink ball point pen only for filling the
boxes and darkening the circle on OMR Answer Sheet.

Do not use pencil.

12. Folding/ wrinkling or putting any unwanted mark or
damaging the OMR Answer sheet is prohibited. The
candidate will be responsible for invalidation of the OMR

Answer sheet for doing such deeds.

13. Space has been provided at the end of the Question
Booklet for rough work.

14. The candidates are not allowed to leave the
examination hall before the OMR answer sheets are

collected and counted by the invigilator.

15. Candidates are provided with carbonless OMR answer
sheet. They must submit the original copy to the invigilator

and take away the carbon copy with them.
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